% é }_é{ w Tinh nhan tt cia da thire khéi

Tén: Ngay thang: Diém:
2 + 4y 18x° + 115x> — 87x— 70
X —x —52x+ 160 54x> — 51x% — 55x+ 50
3 2 2
x + 18x" + 101x + 168 3x™+ 9x
X+ 6x> — 67x — 360 X — 6x> — 8x — 64
X — 7> + 19x— 45 X — 5> —10x— 28
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% @ }_é{ w Tinh nhan tt cia da thire khéi

Tén: Ngay thang: Piém:
2% + 4y 18x° + 115x> — 87x— 70
2x(x + 2) (2x + 1)(x + 7)(9x — 10)
X —x —52x+ 160 54x° — 51x% — 55x+ 50
x+8)x—4(x—5) (9x— 10)(x + 1)(6x — 5)
X+ 18x% + 101x + 168 3x” + Ox

(x+8)x+3)x+7) 3x(x+ 3)
X+ 6x> — 67x — 360 X — 6% — 8x — 64
(x+ 5)(x+ 9)(x — 8) (x— 8)(x* + 2x + 8)
¥ — 7% + 19x — 45 ¥ — 5 —10x— 28
(x— 5)(0% — 2x+ 9) (x— 7)(2 + 2x + 4)
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